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A otA 2te| Bt
M THoH 2 (BSEMLE/THHETH - 212 9)

el Lo E e CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OMgt=s7 EIHA 24 10,000& »20H »23] 400
OXNGXNSLHE HEBLIHSAIE A
24= 200,000& »10H 2,000
307 21201 A 11,337 11,337 0
02 B AEXS 7,800 7,800 0
OXNAXEs&dHE &Sl 600,000 =134 CH 7,800
06 283 3,537 3,537 0
OXNETtsd Mt A2 It
1,500 93| x262H 3,537
XH oHf CH 24 At 2,008,397 5,837,629 A 3,829,232
= 700,000
< 217,365
s 1,091,032
THOH AFXCHHI Ol 2 AF 408,341 305,771 102,570
101 @14 Hl 14,881 13,881 1,000
04 JIZHHZ2XNHEE S 14,881 13,881 1,000
OZ=oll ZAIQ SE=Z &ZH|
41,680 1H 25«13 S & 13,546
OMolEEZ (S22 AQ)
13,546,000& +0.0985 1,335
201 £B-2dH| 41,380 38,280 3,100
01 At 22/l 38,380 35,280 3,100
Oger==EH| 33,900
—di2d &N 22 50,000& 10 500
— MHoHAtE CHHI SHSOH=L ™A ME
10,000& 2005 2,000
— Mooy 2= MA 5008 +1,000% *32 1,500
— =% UM L (EHA 118)
2,000,000&*131S™ 26,000
— Mooy =282 M
50,0003 1301 S & »23] 1,300
—=g4 g28 & 200,000&*131S ™ 2,600
ONETS SEaAEd 2+
70,000 *20H »23] 2,800
O HEl HlaZ22X =44
L0003 «4H x5 »12& 1,680
03 &AL Z I 3,000 3,000 0
OLMHaY A XA 3,000,000& =13l 3,000
203 YR =&l 1,000 1,000 0
03 AIMZ=XH R =AH| 1,000 1,000 0
OTHoll AFMCHHl Ol =&
20,000 «5H x 102 1,000

401 AIEHIZ 2 I 351,080 251,350 99,730
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DTN 2 (SBEAML S /LT - 21ER)
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et& el ot

XH off CH 28 At

(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 350,000 250,000 100,000
OTHoH AFECHE] O BHAL S 150,000,000 150,000
OLTFHE THOHO BEAFSY 200,000,000 *14! 200,000
03 AlE 21| 1,080 1,350 A270
OTHal AP CHHl Gl AFY Al 20HHI
150,000, 0002 x0.72/100 1,080
23138 29 71,940 71,940 0
201 LBt | 1,000 1,000 0
02 2=2=24%H| 1,000 1,000 0
O M E 3yl 1,000,000& *13] 1,000
202 044 4,000 4,000 0
01 2L Y| 4,000 4,000 0
OMal=7 L AXUHH Y2=& |
20,000 »2%3 %100 4,000
302 Ol =L THoHE & 2 16,940 16,940 0
02 CI2toITHoll E a2 16,940 16,940 0
OMaliog & =s2&0 21201 ZAH|
7,000 *10Y x4 x 13 S H 3,640
OMdioeg & =728H R&UH
1,650 %204 ~10CH =10 3,300
OMHXAB4aZ 10,000,000& 10,000
401 Al HI L 204 HI 50,000 50,000 0
1 Al&H| 50,000 50,000 0
OMH=232E &4l
427,350 93| x 13 S H 50,000
o, B32A8 B4 & &1 51,696 111,696 A 60,000
201 et 36,696 36,696 0
02 2224 36,696 36,696 0
OCCTV, AWS dIe=2
30,000 #2801 A~ x12& 10,080
OMHSANHAHIA AIE S 100,000& x12& 1,200
OMLtAEA 2AANES S 150,000 x12& 1,800
LEMNFALE JIR=2
370,000 x40 A~ 12 17,760
OfIEEZ SHR2 25,0002 8 x12& 2,400
OUHZEAE S22 18,0002 160 A~ x12& 3,456
401 AlEHIZL 2 0HY| 15,000 75,000 A 60,000
01 Al&EH| 15,000 75,000 A 60,000
Ol .ZBEAE B4 & &X
1,000,000 1500 & 15,000
KATHoH 2=2&H A2 60,000 51,884 8,116
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M THoH 2 (BSEMLE/THHETH - 212 9)

Chl: THOH CH =4 AL (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 57,000
201 et 60,000 51,884 8,116
< 3,000
s 57,000
02 =224l 60,000 51,884 8,116
OXtH ol 2=&dl |RX2el 20,000, 000& 20,000
< 3,000
s 17,000
OMtEeraraas Zdl |X22l 10,000,000 10,000
OZSHAIMBEL R L 24
10,000, 000& * 14 A 10,000
O=MFAE RA22 5,000,000 *40H 2~ 20,000
Z=0 28 29 11,380 11,380 0
< 4,365
= 7,015
201 Let24d] 2,650 2,650 0
01 At 22l 2,650 2,650 0
OS2 E22 N (EES)
1,000& *2,0000H 2,000
OE2oi28 222 HA(249)
50,0002 130 S & 650
307 21201 A 8,730 8,730 0
< 4,365
[ia 4,365
06 2= 8,730 8,730 0
OJdlzdg=g Xt SHMEE 5,0008 1, 146 Al CH 5,730
< 2,865
s 2,865
OFMIS=cHa 2 15,000& 200 Al CH 3,000
< 1,500
s 1,500
=2 MAZH ALY 1,405,040 2,559, 180 A 1,154,140
= 700,000
= 210,000
i 495,040
401 Al BIZ 201 8] 1,405,040 2,559,180 A 1,154,140
= 700,000
< 210,000
i 495,040
01 A& HI 1,400,000 2,550,000 A 1,150,000
OGeHXI= =Z AKX SdAEX 7 EHl
1,000,000,000& 14 1,000,000
= 500,000
< 150,000
s 350,000
OUR2X 7 =ZAX A X7 EHl
400,000,000 » 14! 400,000
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 200,000
< 60,000
e 140,000
03 Al =TI 5,040 9,180 A4,140
O=Z ALKl ZHIALY AIZ R0t
1,400,000, 000% *0.36/100 5,040
reE - Hiathy| 344,467 314,081 30,386
=2 6.188
< 36,549
e 301,730
glge 2d2el 66,688 63,688 3,000
201 Let24] 17,744 14,744 3,000
01 At 2t 2l 9,344 6,344 3,000
O8=9 & &4F M 1,000, 000& =33l 3,000
Oul=l 25,000& 200 5,000
O=gtl 7,000& «4H 441 x12E 1,344
02 2324l 8,400 8,400 0
Oz22= & HA 50,000& =123l 600
OAE ZHIS X 1,000, 000 *24 &~ 2,000
oulgel g =il 5,800
— sk 282 & HMA
800,000& «CH & == 1CH 800
— S50 & Fdil
5,000,000+ &S 14 5,000
202 04l 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
OHlattHdl,elge dRF8 0l
20,0003 x3& +52«10& 3,000
301 LBt A 45,944 45,944 0
08 SAUAZIERAB NS 41,444 41,444 0
o=a 83,7002 x10H 122 10,044
Os4ll 7,0003 10«20«12 16,800
Ounstl 5,000 10 x20L «12& 12,000
o=l 100,000& 10X 1,000
OddiE2g= It 120,000 10 1,200
Ouns & 2gs 4 B4
20,0003 «10Y *23] 400
09 SALAHIEA S 4,500 4,500 0
oglge dMesd 4T 24
10,000& 30 x 103l 3,000
O & JEdAN AT 24
10,000& »150H 1,500
QIere Algots sS4 2,000 2,000 0
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
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02 QItFAE XS 2,000 2,000 0
Oolerel A0S S 29l
1,000,000& »2J4 Ot = 2,000
et 126,080 132,580 A 6,500
< 20,000
s 106,080
201 LB-2EH| 13,580 13,580 0
01 At 2t 2l 11,000 11,000 0
OUEZ(Ad LA LAIHA 11,000, 000& 11,000
02 =224l 2,580 2,580 0
OblERasxd 22| 2,580
—2&2 2 HMA 580,000 x4 & 3t 2 1CH 580
=50 2 Zdldl
2,000,000 232104 2,000
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03 8L HAAZH 30,000 24,500 5,500
O s XA 30,000
—oEZAYl Hes 2L XA 7,000,000 7,000
—oE2YH 5. 228U N
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—oEAYH JI=ZAHUE & N
5,000,000& x13l 5,000
—34EE A4 LM JI=ZAUE &4
2,000,000& x13l 2,000
—Esd WREMAL XA 3,000,000 3,000
403 XHXI €A S Xt =201 ® 82,500 83,500 A1,000
< 20,000
[ia 62,500
02 S| 2SOl CHSHIH & A B 82,500 83,500 21,000
OagE Ad2eld D& 22
1,000, 000& 5001 2~ *10/100 5,000
ORX&tastd A7 X 4,000,000 *304 2 12,000
OFgoty 2 &Il 10,000& *300 Al CH 3,000
Otx ool =2l 119 3o & (ZHo0lH)
20,000,000 *20H 2~ 40,000
< 20,000
s 20,000
Oe=a328Z X0l & 4307 10,000
—HS3EE 2R 20,000& 2504 5,000
— I8 843 01(3.3Kg) 20,0002 2504 5,000
OAsA2dU3 sZ&s & HIRNE
500,000& =133l 6,500
OxgogdadiAt A& 25,0003 *200H x 13| 5,000
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X ZH -
L= B
el

O X 22| I}
Mol et2el (222 F BT - 2IeEe])
= . PN ]
(o
K- B8 S2(3H) - HSAY - BaS e
= 315
& 810
= 1,925
01 AP 2t2l bl 3,050 2,474
oolgre 4l = 100, 000& 208+ 2,000
& 600
= 1,400
OetE = 105,000& *10Al 2+ 1,050
= 315
& 210
= 525
301 YerE A3 5,699 5,699
= 1,514
& 651
= 3,534
09 HAIAH EA= 5,699 5,699
OoIer X1 &t 2,600,000& 2,600
= 585
= 2,015
OX 322 ) 3,099,000& 3,099
= 929
& 651
= 1,519
307 QI2t0| ™ 22,500 19,500
& 5,850
= 16,650
02 DI2HFAMEXZ 22,500 19,500
O822I s 2 1,500,000 * 134 CH 19,500
T 5,850
= 13,650
OF20gA0|sU 2203 Y JN=83AU3S
Bl X & 3,000,000& 13 3,000
| & CHHI 9,160 9,160
201 LEt2 Y| 9,160 9,160
01 At 22l Yl 9,160 9,160
Odetg2H| 3,000
— #2099 o
100, 000& *20& x 13| 2,000
-suz 1,000,000%! +13l 1,000
OSXHE& 7,000 x110H 24! x4 A 6,160
[ S0l bl =4 10,400 10,400
< 5,200
= 5,200
403 XX E S X 10,400 10,400
< 5,200
= 5,200




M ot Ze|
B AR (BIEMLE /ST - 2S)
Sl RISl - Bl Yl CERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
3oblZsdXENEE]XR 10,400 10,400 0
OXgodl= X& 10,400
— XS0 wsXA 10,400,000% *1JH CH 10,400
< 5,200
e 5,200
ANSZ=D HIIHa 2= WA 7,400 226 7,174
= 2,220
< 2,590
s 2,590
405 RHoHF S HI 7,400 226 7,174
= 2,220
< 2,590
s 2,590
01 et EZFH S 7,400 226 7,174
OstHuzH 232 7,400
— oI MY Yo B
37,000& 200K 7,400
= 2,220
< 2,590
s 2,590
SEYAEds 29 84,360 63,296 21,064
308 XXIEHHSOIA 24,100 10,000 14,100
07 il ZS XN ZL4EX 24,100 10,000 14,100
Osgeegas 24l 10,000, 000& 10,000
OLictAtg StEdEgstn 29 K&
14,100,000& * 14! 14,100
403 Ut SHHSA=0l& 60,260 53,296 6,964
03 MblZsSdXN3ANSEXR 60,260 53,296 6,964
OZENH=Z 4 X& 60,260
— 2024 N& 22,000,000& 22,000
—SEYe Ad XA 13,000, 000& 13,000
—0blz usEdld 25,260,000 25,260
St EH(ZEL X GMHL/=XH) 7,771,510 10,066,900 A 2,295,390
= 3,852,395
< 210,000
s 3,709,115
Sot& 2t el At 7,771,510 10,066, 900 A 2,295,390
= 3,852,395
< 210,000
[ia 3,709,115
ot |XZel At 362,592 362,592 0
< 130,000
e 232,592
401 Al BIZ 201 8] 362,592 362,592 0
< 130,000
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H: SIETH(ZELXSEIHL /I
Sl StELIAY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 232,592
01 Al& H| 360,000 360,000 0
OdldE A el AL 1,500, 000& *x240km 360,000
< 130,000
= 230,000
03 AlE 201 Y| 2,592 2,592 0
Ot KX 2CIAIE AlE L2 0HH|
360,000,000 x0.72/100 2,592
A0HE S X2l 236,200 151,200 85,000
401 AlEHIZL 201 Y| 236,200 151,200 85,000
01 Al&H| 236,200 151,200 85,000
O4dtd KXl z2el 152,500, 000& 152,500
O2% ad HHl 2 A 25,000,000& x 14! 25,000
028 U £5t@ IHIBA
30,000,000& x 14! 30,000
Odld 212=4 &Edldl 350,000) 22 410K A 28,700
A0S FHHIAIY 4,818,977 3,626,580 1,192,397
2 2,103,000
= 2,715,977
401 Al HIZL 2 0HY| 4,818,977 3,626,580 1,192,397
2 2,103,000
= 2,715,977
01 Al&H| 4,806,000 3,616,814 1,189, 186
Oactd HHIAIY 3,606,000,000& 3,606,000
= 1,803,000
= 1,803,000
OAGIMAEHESHE (BH)LE 2H
1,200,000, 000 1,200,000
= 300,000
= 900,000
03 A& E2HH]| 12,977 9,766 3,211
OASHA FHIAIY Al&E=20HY|
4,806,000,000& x0.27/100 12,977
CEHE 2 2 HUAIY 107,700 107,700 0
201 et Y| 6,800 6,800 0
02 232 4| 6,800 6,800 0
O22322 % HA 1,800
— =2 d8IIe3 30,000 x200H 2~ 3 1,800
OAN& R BIR X bl 5,000
— 42 £ L 2ES F
100, 000& *500H £ 5,000
401 Al HI L 204 HI 100,900 100,900 0
01 Al & H| 100,000 100,000 0
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& St 2l ALY (&)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OL-SH+E o +2FHIAL
50,000, 000 *24 &~ 100,000
03 A& 2 THHI 900 900 0
OL-SHAT & +2FUIAY ALY
100,000,000 *0.90/100 900
=,F ot Mg Hl 200,000 201,440 A 1,440
401 Al HIZ 201 Y] 200,000 201,440 A 1,440
01 A& HI 200,000 200,000 0
OJISHMEHI (M) M
20,000,000& *50H 2 23] 200,000
SGHE R R ESALY (4THZ-E = A1 &) 256,996 935,670 AB78,674
= 255,158
[ia 1,838
401 Al HIZ 201 I 256,996 935,670 AB78,674
= 255,158
s 1,838
01 A& HI 255,158 930,000 AB74,842
O=NGtE R XN EAD (4THZ-T Al 4)
255,158,000& 255,158
= 255,158
03 AlE 2 THHI 1,838 5,670 N 3,832
O3NS E RN EFAG (AU Z-E=AIE) AIE
Sl 255, 158,000%0.72/100 1,838
ey LAY 670,868 833,333 A 162,465
= 400,000
< 80,000
s 190,868
401 Al HI K 201 I 670,868 833,333 A 162,465
= 400,000
< 80,000
[ia 190,868
01 A& HI 666,667 833,333 A 166,666
Oodgdd Ny e AY
666,667,000& » 14! 666,667
= 400,000
= 80,000
s 186,667
03 AlE 2 THHI 4,201 0 4,201
O9gd et &AL AId20tl
666,667,000% *0.63/100 4,201
e ME IR EAY 20,000 20,000 0
401 Al HI K 201 I 20,000 20,000 0
01 A& HI 20,000 20,000 0
OAAE3 222 S22l AE (14.5km)
20,000,000& 20,000




AN tA 2t
Y ol TU(ZELXNS ML /=T)
& St 2l ALY (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
St R R E =AY (4THZ 2l-6HA 22 ) 1,098,177 1,013,898 84,279
= 1,094,237
e 3,940
401 Al HIZ 201 Y] 1,098,177 1,013,898 84,279
= 1,094,237
s 3,940
01 A& HI 1,094,237 1,010,261 83,976
OZIIotEFANE =AY (402 2-ot & 2+ 2f)
1,094,237,000& 1,094,237
= 1,094,237
03 A& SR THHI 3,940 3,637 303
OZIotEFANES=AS (4012 2-ct & 22l) Al
=Rl 1,094,237,000& *0.36/100 3,940
Aot el (B#BES/MoteE - =2) 211,087 165,280 55,807
< 7,800
s 203,287
Kot 2el 211,087 165,280 55,807
< 7,800
s 203,287
Kot OIS AE XA R EHXE HE 88 =42 26,000 26,000 0
< 7,800
s 18,200
401 Al HI K 2018 26,000 26,000 0
< 7,800
s 18,200
01 A& HI 26,000 26,000 0
OXIGta Ol SAEN A 2 SXE Hs A4
= 26,000,000& 26,000
S 7,800
s 18,200
Kot EX2=Y HAXALS 185,087 129,280 55,807
201 Let24d] 14,870 3,380 11,490
02 =24l 14,870 3,380 11,490
OXdts EXx2=2 MRS
15,0003 290 A %123 5,220
OXlot Ex2Z=2 SAIHSHI
50,0003 » 1304 2 650
OXot Ex2=2 KX 22l
1,500, 0003 *6H A~ 9,000
401 AIEHI L 2CHEI 170,217 125,900 44,317
01 A& tl 169,000 125,000 44,000
OXdts BExas2 41
13,000, 000& * 130 2 169,000
03 Al 2 THHI 1,217 900 317




A otA 2te| Bt

FM: Kot el (#ZES/46t2E - =8
Ehelr XISt 22l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OXot= Exa=d X AIZR20H
169,000,000& *0.72/100 1,217
METAMEIA (M S /FHLAHANESK) 308,698 286,933 21,765
II2S(BS) 2el 287,418 270,263 17,155
RE(BES) DE =2 206,698 201,528 5,170
101 @14 dl 9,226 12,813 A 3,587
04 JIZtHZ2Z2XRHESE S 9,226 12,813 A 3,587
ONRE(LUS)HH L SASE Mg AR
83,9753 11002 8,398
OC4liEdg = 8,398,000& *0.0985 828
201 LBt 8,580 7,660 920
01 At 22l 7,080 6,160 920
OIS MHEFH & JdMZZ2)Y 29F
3,000,000 » 14! 3,000
OMEXAdME A & Heler ISl 1,800
— S otAH ZYE=E 150,000& »4H x23| 1,200
— A StA =S st 50,000 x4 X »23] 400
- 29 50,0003 x4 13| 200
OMETIANEBIA Al S2X 24 M=
7,000 «4H 52«12 1,680
OMEXAXNASAIE S 2AHH M=
150,000& 4 H 600
02 =224l 1,500 1,500 0
OMETANYIA HUl+6 % 2EDH S
,500, 0003 * 14! 1,500
202 Odl 4,320 4,320 0
01 = LHAYI 4,320 4,320 0
OMETEMHA BEH2 A25F 0|
20,0003 «3H «6 L« 122 4,320
206 M= Hl 93,600 93,600 0
01 =8l 93,600 93,600 0
OXdzs(Bets) n&E=2& MM 7 93,600
—dXEZD 60,000 3004 18,000
—&8ZEIRULE 42,0003 1004 4,200
—NEs8H= 20,000& =800H 16,000
—HEetE D 40,0003 4004 16,000
— SH8XEHD 10,000& *200H 2,000
-S|+ 80,000 15074 12,000
— & 88,0002 1004 8,800
— QrED|IE &g 33,000& 20074 6,600
—JIEt EAM(ELL 9T)
10,000& x10Z 1004 10,000




SA: oEBRY
Ha: MEXAMEAMIEX/HSHSAH)
@ JI2S(Eets) 22| (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL £ 0HY| 90,972 83,135 7,837
01 Al&H| 90,000 82,500 7,500
OJzs(Bets) SXNE4(E5,000F 15%)
120,000 x750E 5= 90,000
03 AlE 21| 972 635 337
OQIN2E(BotsS) SXE4 AE2UH]
90,000,000& *1.08/100 972
LS JIRS(ES) WA & Ad 80,720 68,735 11,985
401 AlEHI 2 2 0HY| 80,720 68,735 11,985
01 Al&Hl 80,000 68,000 12,000
OL% JIR2RE(EotsS) A & Al
1,000,000 +x80S = 80,000
03 AlE 201 Y| 720 735 A 15
OLZ JI2S(BoS) i & Al AIZL20
gl 80,000,000 «0.90/100 720
AAHES SANES 21,280 16,670 4,610
AQAHE & F MIIAIE £2lHHA 3,120 3,120 0
206 M = dl 3,120 3,120 0]
1 MHZ bl 3,120 3,120 0
OAQHE “2HIAE =28 EIXNM 7
30,0003 *8MI CH* 1301 = ™A 3,120
oldZ MEXR XNFEAIE2SF 0t==3 SAES 18,160 13,550 4,610
206 M = Hl 7,500 4,000 3,500
01 X2 H| 7,500 4,000 3,500
OME T2 KIAZEAECS OtS=3 ESAES
>Zlg A 2L 250, 000& x5 &l x63] 7,500
301 et A= 4,860 3,750 1,110
09 HAIAHI BEAZ 4,860 3,750 1,110
OME T2 KIAZSAECS OtS=3 ESANES
oA 24t 27,0002 x30% 63| 4,860
307 QI2t0| ™ 5,800 5,800 0
02 A2AtAMNE XS 5,800 5,800 0
OMETS KIASAEF HERX AHS
100,000 x30&H 13l 3,000
OMEBIY UAZAES H#E2L To=
el 70,000& ~40H 2,800
HEESS (ORI D) (22 A LA /THLHEETH - 218E2]) 150,000 200,000 A 50,000
WEAHA XK= 150,000 200,000 A 50,000
Merze| o 28s2 150,000 200,000 A 50,000
702 J128=s2 150,000 200,000 A 50,000
(I RSE= 150,000 200,000 A 50,000
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